
M10 x 120mm - [*]

M10 Washer

3mm Spacer

M6 Washer

M6 x 16mm - [*]

[*] : REFER TO OWNERS MANUAL FOR OEM TORQUE SPECIFICATIONS

M8 x 20mm - 23NM

M8 Washer



3mm Spacer

[*] : REFER TO OWNERS MANUAL FOR OEM TORQUE SPECIFICATIONS

M8 x 20mm - 23NM

M8 Washer

3mm Spacer

M10 Washer
M10 Nylock Nut

M6 Washer

M6 x 16mm - [*]

M8 x 20mm - 23NM

M8 Washer


